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  : إر!�ع م,�د��* -وم�%�ل ح�& آ%�ر ا�$��رو!�� �� ��� أآ��ة    Mgا����ل ا�������� ا����� ��� ا����
	�م ����ج     

                                                      + 2H3O
+   =  2H2O(l) + H2(g) + Mg 

����

 ��
 

 Mg(s) 

ا�����  وت7آ�
�5V= 60 mL  6 آ4س �* م�%�ل م� ح�& آ%�ر ا�$��رو!�� ح0g,m=1  *�2  ���0 آ�%/  

0mol/L,C=5 ، �	
��ر
�	� ��� إ����ء آ�
� ا�����
�م آ ���� �
  .+�'�* إ()'ق %�ز #��"� ا�!	�رو 	� و��ا

 : ا�����%�ز ا�!	�رو 	� ا���)
8 و(4	7 ���� آ1 د5	�4 +�123 0
� ا����"/ ا���و(� +� ا���ول (��-   

8  7  6  5  4  3  2  1  0  t (min)  
985  985  985  970  910  810  625  336  0  V H2 (mL)  
                  x (mol)  

 

 .!�و< ��=�م ا�� ���أ�>;ء  -1

2-  Aت ح��C��=�أآ�� !�ول اx  ��� ��ت=�م ا �D�	. 

3-  ����F�ا�����; ا GCأرx=f(t)   HCم�� G%��. 

 .�%� ��� ا�������� وح�د ا��� ��� ا����  xf��� ا��=�م ا��$���  -4

5-  ���K�%�/ ت>�� ث���� ا�$��رو!�� �5 ا�7C H� . (t= 0 min)  ،(t= 3min)أح

 . t1/2زم� �OP ا�� ���  ��� -6

H3O)أح�H ت7آ�
 ش�ارد ا�$��رو���م  -7
  .�5 ا��TC ا�� ��%� ��� إ��$�ء ا����ل ا��������  (+

                                              4��0 : M(Mg)= 24.3 g/mol  
   VM= 24L/mol  :ا��3= ا����� +� >:وط ا���:�9                                                                     
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